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Time : 3 hours 	 Maximum Marks : 75 

Note 	Answer the questions as directed in section A, B and C. 

Draw neat labelled diagrams 'wherever necessary. 

SECTION-A 

Note : All the questions in this section are compulsory. 	5 

1. 	Fill in the blanks : 

(a) Membrane bound 	  are not 

present among the Prokaryotes. 

(b) Association of the fungi with the roots of 

plants is known as 	 

(c) Cell wall of most of the fungi contains 

rather than cellulose. 

(d) Marsilea is a 	 fern. 

(e) Colour of red algae is due to 	 
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2. 	Indicate which of the following statements are 	5 
true and which are false ? 
(a) Plus and minus gametes are genetically 

alike. 
(b) Eukaryotes are characterised by 70s 

ribosomes. 
(c) Bryophytes show oogamous type of sexual 

reproduction. 
(d) India is one of the twelve megadiversity 

countries of the world. 
(e) When a lichen has Nostoe as an algal partner 

it can fix carbon dioxide as well as nitrogen. 

3. 	Match the items of column-A 
appropriate items in column-B : 

Column - A 
(a) Myxomycota 	(i) 
(b) Brown Algae 	(ii) 
(c) Pseudoelaters 	(iii) 
(d) Amylase 	 (iv) 
(e) Vallecular canal 	(v)  

with the most 	5 

Column - B 
Equisetum 

Anthoceros 

Rhizopus 

Slime mould 
Fucus 
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SECTION-B 

Answer any six questions. All questions carry 

equal marks : 

4. Briefly describe the characteristic features of 	5 

reproductive organs of pteridophytes. 

5. Briefly explain the uses of blue-green algae. 	5 

6. Draw a well labelled diagram of Pteris sporangia 5 

and describe its dehiscence mechanism. 

7. Describe the different types of sexual 5 

reproduction in algae. 

8. Define the following terms : 
	 5 

(a) Conidia 	(b) Sporangia 

(c) Sclerotia 	(d) Rhizomorph 

(e) Arthrospore 

9. Describe briefly S. Miller's experiment and 
	

5 

comment upon its conclusion. 

10. Define heterospory. Describe incipient 	5 

heterospory giving examples. 

11. Draw a well labelled diagram of L.S. of 	5 

archegoniophore of Marchantia. 

12. Describe the three major morphological forms of 5 

Lichens giving one example of each form. 
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SECTION-C 

Answer any three questions. All questions carry 
equal marks : 

13. Describe the various uses of bryophytes. 	10 

14. Explain the Stelar evolution in pteridophytes. 	10 
Give suitable illustration. 

15. With suitable examples and labelled diagrams 10 

explain isomorphic and heteromorphic 

alternation of generations. 

16. Describe the Endosymbiont Theory and list the 10 

various evidences to support this theory. 

17. Describe the symptoms, pathogen and disease 10 
cycle of Late Blight of Potato. 
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2. 	5cf -4 	 ?:ret 4-9.  goirt 5 
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